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1 Replicate Error

Replicates: {1, z2, ..., Tp}
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2 Process Control
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3 Mass Transport
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4 22 Factorial Design
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5 Statistical Process Control
R Zif

UCLg = D4R = R + 3%4R

D4 =1 —+ % D3 = % d2 = %
I = 20 T
"= 30
LCL; =7 — 375 )
Unknown o : 6 = % Ay = d23 -
UCL; = + dfﬁﬁz =7+ AR
LCL; =7 — 3 =R=7 - AR
_ USL—LSL
Cp - 6o
References
ISBN-13: 9781556173912, 9780471303534,

9781119400363, 9781107003538

ds = Z’j
9780139304392,

http://apollo.effendi.me/cemt/



	Replicate Error
	Process Control
	Mass Transport
	22 Factorial Design
	Statistical Process Control

